Q1.

Q2.

Q3.

Q4.

Time, Speed & Distance (A, AT 3R )

37U HTHT °TA o 34 i AT IeTd §U, 3T Q 1.

I 31U AT uge | 15 fare o faemar &
ST 2 | SHeh gRT 37U ¥R 31K Shiaierd o sier
i g T A | TN ATt A= 98 fehan
7?

(a) 32T
(b) 45 fHTe
(c) 16T
(d) =H ¥ L T

THIT 3R HRYT AT it ShATT: 6 ferwit/sier i
10 Tereft/dieT &t T & o o & | AT TH9T
TRV | 30 fiee S1fires |HT o €, °f Ui
TR AT TS it fohair 2 2

(a) 10 ferett
(b) 7 fertlt
(c) 7.5 ferHt
(d) 78§ IS el

P 3R Q heraran git 21 Tt 21 A 31K B swawn:
3 foptlt /et o 4 frft/ ST e A P | Q
3R URH & ¢1 B, Q a9 UgHdl € 3R qid
AT AATR WA | FeTar 1 P SRR F e
ElURICETIS L

(a) 20 ferdt
(b) 15 fordt
(c) 18 foreit
(d) 3H ¥ L T

T 20 TeRrHi/eT ot =mer | IeteRt 10 THAe &
foreTtar & 310 Shietst UgeT 81 30TeAT SN aE
T TIfer 5 feRHi/EieT TR 3T ?, AfeT urar 2 fom
e anedt off 4 e i forenar € | SEF A S0 S
et ol TR gl e ?

(a) 20 ferdt
(b) 15 fRHt
(c) 12 Tt
(d) T7H 9 HE

Q2.

Q3.

Q4.

Walking at 34 of his normal speed,
Ashish is 15 minutes late in reaching his
office. The usual time taken by him to
cover the distance between his home and
his office is ?

(a) 32 min
(b) 45 min
(c) 16 min

(d) nonme of these

Ramesh and Mahesh travel the same
distance at the rate of 6 km/h and 10 km/h
respectively. If Ramesh takes 30 minutes
longer than Mahesh, the
travelled by each is ?

(@) 10 km

(b) 7km

(¢) 7.5km

(d) none of these

distance

Distance between P and Q is 21 km. A and
B start from P towards Q with the speeds
of 3 km/h and 4 km/h respectively. B
reaches Q and returns immediately, meets
A at R. Find the distance between P and R.

(a) 20km
(b) 15 km
(c) 18 km

(d) none of these

Maneesh walking at a speed of 20 km/h
reaches his college 10 minutes late. Next
time he increases his speed by 5 km/h,
but finds that he is still late by 4 minutes.
What is the distance of his college from
his house ?

(@) 20km
(b) 15 km
() 12 km

(d) none of these
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Q5.

Qeé.

Q7.

Q8.

Q9.

02

T hR gRT 12 Tt/ ser ot ifa @ ues fAfvea
0 T 2 3R 3 feret/sier @t ife @ tee
ATTG 37T € 1 gl 0§ 5 6 o | S6 /R E
o T o 7

(a) 12 fordt

(b) 30 ferett

(c) 15 foret

(d) 6 fedr

Ifg | o fEaT 60 feret/sier @t wife & et
AT & @ 97 40 e # wes fafvaa ot @
FAT 2 | AT T THT 25% THH F & o1 39
Torer Tifer & T ST B ?

(a) 100 fereft/=ier

(b) 75 fersii/eie

(c) 80 fertt/=ien

(d) 3H 9 L T

T fom oA feiRa T @ g s e 9
TAMT g3 3R 1500 ferwt T 310 Tided aeh
T TR UEE oh [0 I STUHT il STUT =T
T W 33.33% WG UST | SHeh! et g8 d AT
HifSTT |

(a) 1200 fepii/sier

(b) 1000 ferdi/sier

(c) 900 feHt =t

(d) T | HIE TR

ST 6 TeRwii/eieT St T | STieTs SiTaT & 31
4 Tereit/sieT &t TIfT | 37U ¥R AAtear & | afE 9%
el THATERY 10 ¥ AT B, A1 SHeh A Terd 31
T T S o gl Femar 2 2

(a) 20 frdt

(b) 22 foret

(c) 24 feet

(d) 18 foreit

T o fa &t 3 feeett & o 6 o 21N 6:45
Y FoIeheTel & 3T HHST: 100 feRwt/s=T 317 136
TRt/ eieT ot T & AT STt € | Taeett § foha
TeReTIeY g aMI o+ UhaT BT ?

(a) 200 feret

(b) 220 fret

(c) 240 foret

(d) 79§ IS el

Time, Speed & Distance

Q5.

Qé.

Q7.

Q8.

Q9.

Manish travels a certain distance by car
at the rate of 12 km/ hr and walks back
at the rate of 3 km/hr. The whole journey
took 5 hours. What is the distance he
covered the car ?

(a) 12 km

(b) 30km

(c) 15km

(d) 6 km

Saroj covers a distance in 40 minutes if
he drives at a speed of 60 km/h on an
average. Find the speed at which he must
drive at to reduce the time of the journey
by 25%.

(a) 100 km/h

(b) 75 km/h

(c) 80km/h

(d) none of these

A plane left half an hour later than the
scheduled time and in order to reach its
destination 1500 km away in time, it had
to increase its speed by 33.33% over its
usual speed. Find its increased speed.

(a) 1200 km/h

(b) 000 km/h

(c) 900 km/h

(d) none of these

Jayesh goes to office at a speed of 6 km/h
and returns to his home at a speed of 4
km/h.If he takes 10 hours in all, what is the
distance between his office and his home ?
(a) 20km

(b) 22 km

(c) 24 km

(d) 18 km

Two trains for Patna leave Delhi at 6 am
and 6:45 am and travel at 100 km/h and 136
km/h respectively. How many kilometers
from Delhi will the two trains be together ?
(@) 200 km

(b) 220 km

(c) 240 km

(d) None of these




Q 10. Wﬁlnéiwwwwm@ﬁmaﬁ} Q 10. A car driver driving in a fog, passes a

Q11.

Q12.

Q13.

IR AT & S S ey # 2 fedfi/ser @t vt
| IeT T&T 97| USeT AT R T 6 Tie aek 3@
Heht 3R € S/ 0.6 Terrt aht it e Teard
It Tifer ferasit ot ?

(a) 6 foret/sieT
(b) 8 ferHit/=ier
(c) 12 frei/sier
(d) =79 U B Tl

T HIGTITST 40 Tereft/sieT &t ot T & faeett
| Hag o foTu wam g2 ) 31w a1, U v
2 60 Toret/gieT St ST T | THHIA ¢ T
IS ol UST id gU feeett § g o fau
TATT &2 | Taraue 21 feeett & fepereit gF Aot
J firerit ?

(a) 480 fordt
(b) 260 fFHt
(c) 240 fHt
(d) 120 fst

Ueh 2 Uk fehcTiHIe dah 120 TerHit/eier ot fer
T & 37 3N U Terare ek 40 Tereft/sieT
T TIf & =reTdll § | 31 S ST Tifer fehaeit
27

(a) 80 feH/ e

(b) 72 fet/sen
(c) 60 fH =
(d) TTH T HE

Teh I Hielt Tgeh WX gl AT 1/3 9T 10 fomedt/
EET oAl T W, STTAT 1/3 T 60 TemHt/eeT st
T | 3R 3ifeaw 1/3 Wt 20 fedft/ger s nfa @
T R B | G AT o6 SR IR hl A Ther
e ?

(a) 30 fersi/Eiar
(b) 16 foreit/eier
(c) 18 femHi/=er
(d) T & g T

Q11.

Q 12.

Q13.

pedestrian who was walking at the rate
of 2 km/h in the same direction. The
pedestrian could see the car for 6 minutes
and it was visible to him upto a distance
of 0.6 km. What was the speed of the car ?
(a) 6 km/h

(b) 8 km/h

(c) 12km/h

(d) None of these

A freight train left Delhi for Mumbai at
an average speed of 40 km/h. Two hours
later, an express train left Delhi for
Mumbali, following the freight train on a
parallel track at an average speed of 60
km/h. How far from Delhi would the
express train meet the freight train ?

(a) 480 km

(b) 260 km

(c) 240 km

(d) 120 km

A train moves at a constant speed of 120
km/h for one kilometer and at 40 km/h
for the next one kilometer. What is the
average speed of the train ?

(a) 80 km/h
(b) 72 km/h
(c) 60 km/h

(d) None of these

A cartravels 1/3 of the distance on a straight
road with a speed of 10 km/h , the next 1/3
with a speed of 60 km/h and last 1/3 with a
speed of 20km/h. What is the average speed
of the car for the whole journey ?

(@) 30 km/h
(b) 16 km/h
(c) 18 km/h

(d) None of these

Time, Speed & Distance 03



Q 14.

Q 15.

Q 16.

Q 17.

04

Ueh SHTeRT = Ueh ShI¥ T o 9Tedl ok sirer 200 femt
T A T T, TTAT H AT S 40 feRw/EET
Ft Rer i & T T 3 e dfter avens x faret/
et 3 feery TR & T A1 A = 6 e
TRt 3T TIfe 53.33 feret/gieT o at x &1
AT ?

(a) 30 fepHt/=eT
(b) 50 ferHi/=en
(c) 60 ferHt/=er

(d) TTH 9 HE T

192 Toret ot AT H, AT g1 | &iHT ¢ ol garaT
H, 2 TS HH GHI 7T | TS it St eftea
T AT 2 T S A | 16 FRHI/HeT HAE,
A AT ST A a2

(a) 32 ferdi/sien
(b) 16 frei e
(c) 12 frmi/sie
(d) 48 fmt/=en

Teh & WAH X | WIH Y deh v feRHT/E=T i
MET T, Y | X aa 2v fei/ser ot st
T, TF: X /Y ek 3v ferwlt/sier et sigea i
WS YT: Y & X ek 4v Tomtil /st shl siree wifer
BT A & 1 T e R E sia
wfa: UPSC PT 2020

(a) vimd/EadwHae

(b) V3ﬁ'{2vm/‘5i2'[€57ﬂ?%
(c) 2v 3R 3v fre/Her & = @
(d) 3v 3R 4v fFei/sTh S= 2l

T &R A § B e V_ TerHi/eier it i & am
FAHEL,BHATHV, ety e = A AT
aﬁr%aﬁ'{ﬁo‘{AﬁBwv et /deT st i |
AT S B SRS

(a) 2V.V /V +2V,
(b) 2V.V /V +2V,
(c) 3V.V,/V +2V,

(d) TTH 9 HE T

Time, Speed & Distance

Q14.

Q 15.

Q 16.

Q 17.

A person travelled a distance of 200 km
between two cities by a car covering the first
quarter of the journey at a constant speed of
40 km/h and the remaining three quarters
at a constant speed of x km/h. If the average
speed of the person for the entire journey
was 53.33 km/h what is the value of x?
(a) 30km/h

(b) 50 km/h

(c) 60 km/h

(d) None of these

A journey of 192 km takes 2 hours less by
a fast train than by a slow train. If the
average speed of the slow train is 16 km/
hr less than that of the fast train, what is
the average speed of the faster train ?

(@) 32km/h

(b) 16 km/h

() 12km/h

(d) 48 km/h

A car travels from a place X to place Y atan
average speed of vkm/h,fromY toXatan
average speed of 2vkm/h, again from X to
Y at an average speed of 3v km/h and again
from Y to X at an average speed of 4v km/h.
Then the average speed of the car for the
entire journey UPSC PT 2020
(a) islessthan v km/h

(b) lies between v and 2v km/h

(c) lies between 2v and 3v km/h

(d) lies between 3v and 4v km/h

A car travels from A to B at V_ km/hr,
travels back from B to A at v, km/hr and
again goes back from A to B at v, km/hr.
The average speed of the caris

(a) 2V.V /V +2V,
(b) 2V.V /V +2V,
(c) 3V.V,/V +2V,

(d) None of these




Q 18. TomTRId, Ueh 2 75 foret/derat sima i ® Q 18.

Q 19.

Q 20.

Q 21.

Q 22.

Tt 2 ST & e 60 fareft/derant aivaa
Tfer & A G 79 el B 1 S ufer e e
fra e st 22

(a) 10T

(b) 12 e

(c) 15T

(d) 20 e

& YenTS A 3R B € fig A 3 B @ forodfia
Tergmmait & Ueh TTer ST YRS A & 37 Ueh gEY
G et & 9TE SHHIT: 9 31K 4 T AT 37U TdeT
W ugedt € 1 Al ugelt Yot 80 fei/ser @
Tfer A werdt 2 At gl Yot B foRd e & T
AR ?

(a) 100 fereft/ier

(b) 120 e/

(c) 130 ferdi/ier

(d) =TH 9L T

Teh YTIEY 15 Wers W Ueh U5 AR 2 1 afe 3
i Tfe 36 TeRHt/EieT & At SHE e 3T SHIfeTT|
(a) 100 HieX

(b) 120 HX

(c) 150 HeX

(d) =TH ¥ L T

T Yermteat wa foum # shuet: 40 foRdt/ser
3R 20 Teret/sieT &t TIfq | THEER veiEt o
T T &1 A e ATt Teret gl Yeer %
oS Ueh TR ol 36 Tehe B UN T ST 8 1 9T
TIfer aTet YT S TS B E ?

(a) 100 HieX

(b) 120 HiEX

(c) 150 HeX

(d) =H ¥ L T

Teh ICTITET ohl Ueh WH hl U A U 7 Hehg hl
HHT WAl & Salfeh 378 HieX wat Ueh e
JETMET Rl UR A W I/ 25 Yohe ohl GHI T1TAT
T 1Yo it Tife femet/ e ® A wifsTT

(a) 72 frdi/sien

(b) 73.5 feRwt/ser

(c) 75.6 fmHt/sT

Q 19.

Q 20.

Q21.

Q 22.

Without stoppage, a train travels at an
average speed of 75 km/h and with
stoppages it covers the same distance at
an average speed of 60 km/h. How many
minutes per hour does the train stop ?

(a) 10 min

(b) 12 min

() 15 min

(d) 20 min

Two trains A and B start simultaneously
in opposite directions from two points A
and B and arrive at their destinations 9
and 4 hours respectively after their
meeting each other. At what rate does
the second train B travel if the first train
travelsat 80 km/h?

(a) 100 km/h

(b) 120 km/h

(c) 130 km/h

(d) None of these

A treeis passed by a train in 15 seconds. Find
the length of the train if its speed is 36km/h.
(@) 100 m

(b) 120m

(c) 150 m

(d) None of these

Two trains are running on parallel lines
in the same direction at speeds of 40 km/h
and 20 km/h respectively. The faster train
crosses a man in the second train in 36
seconds. The length of the faster train is ?

(@) 100 m

(b) 120m

(c) 150 m

(d) None of these

A train requires 7 seconds to pass a pole
while it requires 25 seconds to cross a
stationary train which is 378 m long.
Find the speed of the train in km/h.

(@) 72 km/h

(b) 73.5km/h

(c) 75.6km/h

(d) None of these
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Q23. o THMfSAT THR YRl U3 T g &l UR - Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

06

WA T | T YTET 100 HieX ot €1 59
Teh S RO H ST B S, A AT aifer et Termet
Tl GET ST Sl I UR & | 60 Hehe
AT T § | afe 3 fauda st g sr @ g
o 10 Wehs T Teh-gEY ol T e W IR el & |
&Y eI oht Tfe fepHT/EeT H AT ShifeTe |

(a) 20 feFHt/=eT
(b) 30 ferdi/sien
(c) 25 ferdt/sier
(d) T7H 9 HiE T

200 HieT Tiell Ueh IS 40 TRt eeTa nfa &
T TE R | T TS TS o UTH &S Ueh ST oht
Toha Qehe | IR Y ST ? UPSC PT 2018

(a) 12

(b) 15

() 16

(d) 18

Teh TG 8 T H &R % Ufelehet 40 ferelt 31T ey
¥ e 7 S | 49 Tt &t ot o Wt ¥
TMATAR AT R T FTE?

(a) 8 ferdi/=en

(b) 10 fepHi/ =i

(c) 6 feorHi/ier

(d) TTH 9 HE

YT STeT | ATE @ T 12 FoRei/eieT § ST
wt Tifer 2 fepeit/eieT 2 | o o wiererer 8 femtit st
@H?Taﬁﬁ'l'cﬁ‘%:

(a) 32 fed
(b) 48 fiFe
(c) 52fed
(d) TTH 9 HE

Teh TEHT ITid STt | 6 Terwii/sier @t ifa | <1a
TS | At T 3 R e S e A e R,
3 Tk T a9 S 3 a1 31 | 45
e e € 1o T TR g e ?

(a) 2 fwet

(b) 1.45 ferdt

(c) 1.68 ferdl

(d) 2.68 Tl

Time, Speed & Distance

Q24.

Q 25.

Q 26.

Q 27.

Two trains pass each other on parallel
lines. Each train is 100 meters long.
When they are going in the same
direction, the faster one takes 60 sec to
pass the other train completely. If they
are going in opposite directions they pass
each other completely in 10 sec. Find the
speed of the slower train in km/h.

(@) 20 km/h

(b) 30 km/h

() 25km/h

(d) None of these

A train 200 m long is moving at the rate of 40
km/h.In how many seconds will it cross a man
standing near the railway line ? UPSC PT 2018

(a) 12

(b) 15

(c) 16

(d) 18

A boat goes 40 km upstream in 8 hours and
a distance of 49 km downstream in 7 hours.
The speed of the boat in still water is ?

(a) 8 km/h

(b) 10 km/h

(c) 6km/h

(d) None of these

The speed of the boat in still water is 12
km/h and the speed of the stream is 2 km/h.
A distance of 8 km going upstream is
covered in

(a) 32 min

(b) 48 min

(c) 52 min

(d) None of these

A man rows 6 km/h in still water. If the
river is running at 3 km/h, it takes him
45 minutes to row to a place and back.
How far is the place ?

(@) 2km

(b) 1.45km

(c) 1.68 km

(d) 2.68 km




Q 28. TH T &R o Ufdepet 80 fe & 15 ferrt wetet  Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

1 AT i 5 TRt /EieT € | 9T STer § e
fae

(a) 18 feri =i

(b) 10.25 fertii/een

(c) 16.25 ferdi/eeT

(d) T8 IS e

Teh ATa &1 H 3Tehet fe9Tm # 10 foret ae Tetdt
% 3R AT =1t & wferepet ferom & 6 Temet ok wrerat
ISl 1 fereli T ® mfe oe 4 S SraTT
B4 ATer sy Tfer femer=it BT =R 2

(a) 2 frei e
(b) 4 fersfi e
(c) 6 ferui/ier
(d) TTH 9 HE T

ek 3EHT I ST | 4.5 fept/srer st g | =mer
AT HehdT & 3T 39 U foh 39 7t § g/ &
TR Sl TeTT | &I o Ufciepet ATl el |
ST T ORI ¢ | &R ot &0 AT ST |

(a) 2 feri/sier

(b) 1.5 fepeii/sier

(c) 2.5 fwei s

(d) T8 IS TEl

Tk TS 10 T § orr & foradia 30 fRet ofix
aRT % SThet 44 TRl A1ar et Hehar 2 1 378 ot
T e e e 13 52 8 arr s faudia 40 ot 3l
T % 3T 55 TRt ATer <elr Hepat &1 917
ST H STEHT ol Tl AT Shi ST |

(a) 8 ferdi/=en

(b) 10 ferfi/sie

(c) 6 feorHi/ier

(d) 9 & IE

Teh TSI Shl ERT o WTcTeheT ohl geT=T | €T oh
3% Tk Tafvea gff 7 & | amen wR A
T € | I STer o STt sl 7ifer 3R &y it
e ST STTUTT TR 2 UPSC PT 2020
(@) 1:2

(b) 2:1

(c) 1:3

(d) 3:1

Q 29.

Q 30.

Q 31.

Q 32.

A boat goes 15 km upstream in 80 minutes.
The speed of the stream is 5 km/h. The
speed of the boat in still water is

(a) 18 km/h

(b) 10.25 km/h

(c) 16.25 km/h

(d) None of these

A boat sails down the river for 10 km and
then up the river for 6 km. The speed of
the river is 1 km/h. What should be the
speed of the boat for the trip to take a
time period of 4 hours ?

(a) 2km/h
(b) 4 km/h
(c) 6km/h

(d) None of these

A man can row 4.5 km/h in still water
and he finds that it takes him twice as
long to row up than to row down the
river. Find the rate of stream.

(a) 2km/h
(b) 1.5km/h
(c) 2.5km/h

(d) None of these

A man can row 30 km upstream and 44
km downstream in 10 hours . It is also
known that he can row 40 km upstream
and 55 km downstream in 13 hours. Find
the speed of the man in still water.

(a) 8km/h
(b) 10 km/h
(c) 6km/h

(d) None of these

A man takes half time rowing a certain
distance downstream than upstream.
What is the ratio of the speed in still water
to the speed of current ? UPSC PT 2020
(@ 1:2

(b) 2:
() 1:
(d) 3:

- W o
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Q 33. T 20 @ahe | 100 HeT SSaT® 3T LT Q 33.

Q 34.

Q 35.

Q 36.

Q 37.

08

25 Hehe W WO g ST & | | et st 2g |
oo amreRTeT At feRa=it it | &R T ?

(a) 10 HiX
(b) 15 TR
(c) 20HRX
(d) =H ¥ L T

100 HIETH AT H A 1.66 HieT/Aas FI &
AT T AR B, A Y 4 HieT 3 W dET &
AT ST 2 37 AT oft I/ 12 Qehs A e T
¥, 1 B H i fehae g ?

(a) 1 H/AHE

(b) 1.25 Hey/Tshe

(€) 1.33 Hiex/ T

(d) TTH 9 HE T

500 HieX I 3Yg H, Bt eiTereh foreter 37K grier ot
et et SAFATe 3:4 & 1 3fe forsrr 140 e emr d
rear 2 ar farsrer feram wiex & Sfam ?

(a) 10 HrX

(b) 12 HieX

(c) 15HX

(d) T | hE T

Teh &SR (1000) HeT R SEH X, Y 3R Z i
TfERT & | HT efteTe fom o wedft fafir= v
Tt A A F1Y, X | 40 HieT oM ¥ ST
FYEHRATE AR Z, X W 64 W S A S TE
AT &1 AT Y 3T Z Hl 1000 HeX AT &
yfereqert T B, dt Z,Y § foha HieT @ |
ST IRE RO ? UPSC PT 2019
(a) 20
(b) 25
(c) 30
(d) 35

A, B 4/3 a7 AT 1A A, B &l 30 HieX
3T A S AT 2, At St arelt 9 feper=t T
B =TT, aifer S sRTe) Uy HHTw & ?

(a) 150 HieX

(b) 100 HeX

(c) 120 HrX

(d) T8 IS el

Time, Speed & Distance

Q 34.

Q 35.

Q 36.

Q 37.

Bibhas runs 100 meters in 20s and
Aakash runs the same distance in 25s .
By what distance will Bibhas beat
Aakash in a hundred meter race ?

(a) 10m
(b) 15m
(c) 20m

(d) None of these

a 100m race A runs at 1.66m/s. If A
gives B a start of 4m and still beats him

In

by 12s, what is B’s speed ?

(a) 1Tm/s
(b) 1.25m/s
(c) 1.33m/s

(d) None of these

In a 500m race, the ratio of speed of two
runners Vijay and Sunil is 3:4. If Vijay
has a start of 140m then Vijay wins by....
(a) 10m
(b) 12m
(c) 15m
(d)

None of these

X, Y and Z are three contestants in a race
of 1000 m. Assume that all run with
different uniform speeds. X gives Y a
start of 40 m and X gives Z a start of 64 m.
If Y and Z were to compete in a race of
1000 m, how many meters would Y give
toZ? UPSC PT 2019
(@) 20
(b) 25
(c) 30
(d) 35

A runs 4/3 as fast as If A gives B a start of
30 meters , how far must be the winning
post, so that the race ends in a dead heat ?
(@) 150m

(b) 100m

(c) 120m

(d) None of these




Q 38. @WXWA@@WWYWB Q 38. A person X from a place A and another

Q 39.

W T & I WX Tk TE Sl A AT URT
T € | ST T 15 ferrt gl o Rere €1 X,
1.5 TRt /eieT &t THEHT arel 9 Iar € 3R Y
g T 1 Tertt/oe i weha uer 9, T
e | 1.25 forHi/Ee ot ThEATT AT 9 a9
AR e 1.5 TeRHT/ie i ol TehaH™ a1 §
AT ® 3 T TR 3R it T S Ear 2 |

UPSC PT 2021

freAfafRad 5 ¥ SH-9/9 T8 8 2
1. IAEH o e | 5 5 o THT e 2 |
2. JHI A A B T o Srai-ar e |

e feU T e ST TR Y HEl ST g

(a) heret 1
(b) el 2
(c) 132 heret
(d) AA1TE2

X 3R Y, 300 Hex ol geta AT § Sred 5T 3
fertit it g oI & | STkl =ITed 3:2 o U |
F 1 9fe =i Toh-H1Y Tk €1 faom ¥ <re ge
2, i Femait O vgeT sfer, TR Sl S U
TSR (3 I et 1 Feerfer bt o R e
E T e) UPSC PT 2022

(a)
(b)
(c)
(d)

v b W DN

Q 39.

person Y from a place B set out at the same
time to walk towards each other. The places
are separated by a distance of 15 km. X
walks with a uniform speed of 1.5 km/hr
and Y walks with a uniform speed of 1 km/
hr in the first hour, with a uniform speed of
1.25 km/hr in the second hour and with a
uniform speed of 1.5 km/hr in the third
hour and so on. UPSC PT 2021
Which of the following is/are correct ?

1. They take 5 hours to meet.

2. They meet midway between A and B.

Select the correct answer using the code
given below:

(a) 1only

(b) 2 only

(c) Both 1and?2

(d) Neither 1nor 2

X and Y run a 3 km race along a circular
course of length 300 m. Their speeds are in
the ratio 3:2. If they start together in the
same direction, how many times would
the first one pass the other (the start-off
is not counted as passing)? UPSC PT 2022

(a)
(b)
(c)
(d)

v b W DN
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